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Bt # || BEFE | FEE B W h M5 EUFE #%iE |EAgs|EANIE
1|7AH 1&15 N3 AAAKREIZT 8.900| 25 X 8.300| 20 | 8.700| 23
: 2()IIME BEK NG| RAAKIEYST 9.250| 10 [ 8.850 12| 8.350| 19 | 8.900| 17 |35.350| 12
3@ MK INS | FONRRKR—YH5TER| 9.400| 4 | 9.750| 1 | 9.350, 1 | 9.400 2 |37.900| 1
4T & INS | PONRRK—YH5TBR| 9500 2 | 9.550| 3 | 8.500 15| 8.800 19 |36.350| 6
5[ R INS | REAHEEHST | 9.450| 3 | 8.700 13| 9.050| 5 | 9.100, 8 |36.300| 8
6% 5iE | ER| FSAHEKESST | 8900 25| 7.900 18 | 7.600| 30 | 8.800 19 |33.200| 22
2 7L BEX ER| FSAHEKESIST | 8600 30| 8.150) 16 [ 7.900| 27 | 8.250| 29 | 32.900| 24
: 8| BTt RiH INA | READRIRISTEFHR| 9.400) 4 | 8.0000 17 | 9.100) 3 | 8.950| 14 |35.450 11
o[tk thE IN2 [ FHOINRRKR—YHST| 9.000| 20 [ 7.400| 21 | 8.900| 6 | 9.200 5 |34.500| 15
10(418 5 3} IN|THONRRRKR—YHS5T| 9.100| 17 | 7.000 24 | 8.650 13 | 9.050| 10 |33.800[ 19
3 1|a4 = IN | TONRRRKR—YH5T| 8.850| 27 | 6.750 25| 8.200| 24 | 9.150| 7 |32.950| 23
12|45 B A FER | 7UNRRKR—Y95T| 8550 31 X 8.300/ 20 | 7.550| 31
13|&0 $% N2 | ARyDIEEHST | 9350 7 | 9.2000 8 | 9.100, 3 | 9.200| 5 |36.850| 4
4 14(FE RKH | /M2 | RRYHEEHIST | 9600, 1 | 9.5000 4 | 8.800| 8 | 9.250| 3 |37.150| 3
15(#8 R X N RA¥x9TH5T 8.950| 23 X 8.250| 23 | 8.400| 27
16(4EH FEE IN3 A¥YTHY5T 9.200| 11 X 7.700 28 | 8.150| 30
17| R 25 N3 PKREKEIST 9.200| 11| 9.350, 7 | 8.700/ 12 | 9.100| 8 |36.350| 6
1 18|48 4 A M3 PKEKEIST 9.350| 7 | 9.400) 5 | 8.550| 14 | 8.750| 22 |36.050| 10
19(Fg 1% M PKREEYIST 9.150| 15 [ 7.250 22 | 8.500| 15 | 8.650| 25 |33.550| 21
20|8R{K =& IN | KEARKR—YH5T | 8.700| 28 | 8.900 11| 7.650 29 | 8.400| 27 |33.650| 20
21|FH B8 M| REAHKERSST | 9.100) 17 | 8.950 10 [ 8.000) 25 [ 8.700| 23 |34.750| 14
22| B4 —if, M| REFHEESST | 9.000] 20 | 8.600| 14 | 7.300) 31 | 8.950| 14 |33.850| 18
2 23|EH R IN2 | REFHKRSST | 9.400) 4 | 9650 2 | 9.150) 2 | 9.500, 1 |37.700[ 2
2 24|E & N2 | REFHKESST | 93500 7 | 9.400| 5 | 8750 9 | 9.250 3 |36.750| 5
25| %A A @ INS | FHOIRRRR—YH5T| 9.000| 20 X 8.750 9 | 9.000| 11
3| 26|#%E BHE IN | TONRRR—Y9ZT| 8.950| 23 X 8.850| 7 | 8.900| 17
27|KEEFHT 1 INS | KBRFWAEESST | 9.150) 15| 7.800| 19 [ 8.300 20 | 8.800| 19 |34.050| 17
28[EiE &K N | mBERKEITT 9.100| 17 | 8.400| 15| 8.450| 18 | 8.950| 14 |34.900| 13
29[3R A N | ABEKREIST 9.200| 11 | 7.600, 20 [ 8.500| 15 | 9.000| 11 |34.300| 16
4 30|4WIE BEAER | /N3 | MBZEAIEHSST | 8650 29| 7.150| 23 | 7.950| 26 | 8.550, 26 |32.300| 25
31|EE BE=ER | /M3 | #F 5 REEHSST | 9.200] 11| 9.200 8 | 8.750| 9 | 9.000| 11 |36.150[ 9
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